CONFIDERTIAL



33168

ORIGINAL Kansas Corporation Commission Oil & Gas Conservation Division

September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 33168	API No. 15 - 007 - 23351 00-00 Spot: 10' S & 50' W of C N2 SE
Name: WOOLSEY OPERATING COMPANY, LLC	County: BARBER
Address: 125 N. MARKET, SUITE 1000	NE -SE - NW - SE Sec. 14 Twp. 34 S. R. 11 ☐ East ✓ West
City/State/Zip: WICHITA, KANSAS 67202	1970 feet from S/ N (circle one) Line of Section
Purchaser: BLUESTEM GAS MARKETING / PLAINS MARKETING	feet from E/ W (circle one) Line of Section
Operator Contact Person: DEAN PATTISSON OPERATIONS MANAGER	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-4379 (ext 107)	(circle one) NE (SE) NW SW
Contractor: Name: 33902 JAN 2 9 2009	Lease Name: LINCOLN TRUST Well #: 1
License: HARDT DRILLING LLC	Field Name:
Wellsite Geologist: RICK STONE	Producing Formation: MISSISSIPPIAN
Designate Type of Completion:	Elevation: Ground: 1360 Kelly Bushing: 1370
New Well Re-Entry Workover	Total Depth: 5137 Plug Back Total Depth: 4963
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 221 Feet
Gas ENHR _ SIGW	Multiple Stage Cementing Collar Used? Yes V No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from n/a
Operator: n/a	feet depth tosx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan AJ+TM 4-07-09
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 26,500 ppm Fluid volume 1800 bbls
Plug Back Plug Back Total Depth	Dewatering method used HAUL FREE FLUIDS AND ALLOW TO DRY
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: WOOLSEY OPERATING COMPANY, LLC
10/03/2008 10/15/2008 11/12/2008	Lease Name: CLARKE License No.: 33168
10/03/2008 10/15/2008 11/12/2008 Spud Date or Date Reached TD Completion Date or Recompletion Date The completion Date or Dat	Cuarter Sec. 8 Twp. 32 S. R. 12 ☐ East ✓ West County: BARBER Docket No.: D-28492
Kansas 67202, within 120 days of the spud date, recompletion, workon Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-13) and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.	date the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Dean Pattisson, Operations Manager Date: January 29, 2009	Letter of Confidentiality Received
	If Denied, Yes Date:
Subscribed and sworn to before me this 29th day of January	Wireline Lon Penniund
20.09	Calles Control of the
Notary Public: Albak Clengar	Geologist Report Received ANSAS COR
Debra K. Clingan Date Commission Expires: March 27, 2010	DEBRAK CLINGAN JAN 3 0 2009
à	NOTARY PUBLIC
THE REPORT OF THE PARTY OF THE	STATE OF KANAJAS CONSERVALIBRION WISHINA, KS

Side Two

Operator Name:VV Sec Twp3					Name: _ y: _BARE		RUST	Well #: ¹		
INSTRUCTIONS: Si tested, time tool ope temperature, fluid red Electric Wireline Log	how important tops a n and closed, flowing covery, and flow rate	and base of and shu sif gas to	of formations pet- t-in pressures, v	enetrated. whether sl long with t	Detail a	II cores. Report	static level, hydro	ostatic pressu	res, botto	m hole
Drill Stem Tests Take		✓ Y	∕es □ No		ĮΓ	og Formatio	on (Top), Depth a	and Datum		Sample
(Attach Additional Sheets) Samples Sent to Geological Survey Yes No			′es ∏No		Nam Chas	· =		Top		Datum 402
Cores Taken		. □Y	es 🗸 No		Toro			1772 3647		· 4 02 · 2277
Electric Log Run (Submit Copy)		VV	es No		Doug	-		3670		2300
					Swor	oe .		4338	-	2968
List All E. Logs Run:					Hertl	ertha 4371			- 3001	
•	Neutron Density				Miss	Mississippian 4612			- 3242	
Dual Induction Micro	Cement E	onic Sond			Viola			4910	- 3540	
1411010				···	Simp	son		5035	-	3665
		Popo	CASING I		√ Ne	_	ion oto			
Purpose of String	Size Hole		ze Casing	Wei		ermediate, product Setting	Type of	# Sacks	Type	and Percent
	Drilled	Set (In O.D.)		Lbs.	řft.	Depth	Cement	Used	Additives	
Surface	14 3/4"		10 3/4"		32# / ft 221' Class A		Class A	200	2% gel, 3% cc	
Production	7 7/8"		4 1/2"	10.5#	/ ft	4994'	60/40 poz	50	4% gel, 1/4# Floseal	
							Class H	250		6# Kolseal, Claf
Purpose:	Depth					JEEZE RECORD				
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom	Іурє	of Cement	#Sacks			lype and F	ercent Additives		
Shots Per Foot	PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated					Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth				
4 Mississippian 4612-4664'				ACID: 2600 gal 10% MIRA 4612-64						
						FRAC: 3,059 bbl treated fr wtr & 1,118,099 scf N2 35 quality				
					-	67,800# 30/70 sd	, 12,000# 16/30 sd (10,500# resin	coated sd	4612-64
TUBING RECORD	Size	Set At		Packer A	at .	Liner Run				
	2 3/8"	4693	r	n/a	-		Yes 📝 No			
Date of First, Resumen	d Production, SWD or E	nhr.	Producing Meth	_	Flowing	g 🔲 Pumpir	ng Gas Lif	t 🗌 Oth	er (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas I	Mcf	Wate	er Bi	ols. G	as-Oil Ratio		Gravity n/a
Disposition of Gas	METHOD OF C	OMPLETIC	ON	l <u></u>	•	Production Interv	val			
Vented Sold	Used on Lease		Open Hole Other (Specif	✓ Perf.	. []	Dually Comp.	Commingled	4612-64		

ALLIED CEMENTING CO., LLC. 34039

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

SERVICE POINT: Medicine Coheft

DATE 03 0 C + 08 SEC. TWP. RANGE 1/ W	CALLED OUT ON LOCATION JOB START JOB FINISH 7:30Pm 830Pm 9:00Pm
	COLINER
	ane & Bethe/Rd, 3K Barber KS
OLD OR MEW (Circle one) S, /4 w, E	3 Ninto
CONTRACTOR Hard+ #1	OWNER Woolsey Open.
TYPE OF JOB Surface	OWNER OF SUPER
HOLE SIZE / 4 3/4 T.D. 22/	CEMENT
CASING SIZE 10'3/4 DEPTH 220	AMOUNT ORDERED $200s\kappa''A'' + 3\% cc + 2\%$
TUBING SIZE DEPTH	gel
DRILL PIPE DEPTH	· · · · · · · · · · · · · · · · · · ·
TOOL DEPTH	
PRES. MAX 200 MINIMUM MEAS. LINE SHOE JOINT W/4	COMMON 200 A @ 15.45 3090.00
CEMENT LEFT IN CSG. /5'	POZMIX@
PERFS.	CHLORIDE 7 @ 58.20 407.40
DISPLACEMENT 20/2 B6/s Fresh H20	ASC@
EQUIPMENT	@
	@ K (()
PUMPTRUCK CEMENTER D. Felio	@
7.60	ulatory Correspondence @AN 2 9 20119
	Comp Workeyers
#389 DRIVERMA++ Tests	s / M olora Operation ConFIDENTIAL
BULK TRUCK	@
# DRIVER	HANDLING 2.11 @ 2.40 506,40
	MILEAGE 26 x 211 X , 10 548,60
REMARKS:	TOTAL 4635,60
Pipe on BHM, Break Circ, Pump 35 Spa	CIA
1 M:x 2005x 'A:342 conect, 5 tont	SERVICE
Disp. W/ Presh H'D, Slow Rute, Stop	
Pump at 20/2 B615, Disp., Shutin,	DEPTH OF JOB 220
Cement Dr Circ	PUMP TRUCK CHARGE 1018.00
	EXTRA FOOTAGE @
	MILEAGE 26 @ 7.00 182.00
	MANIFOLD@
	@
CHARGE TO: Woolsey Open.	<u> </u>
CHARGE TO SOLIT SIGNATURE TO SOLIT SI SOLIT SIGNATURE TO SOLIT SIGNATURE	TOTAL 1200,00
STREET	TOTAL MADOTO
CITYSTATEZIP	
	PLUG & FLOAT EQUIPMENT
	@ RECOVED
	MANSAS CORPORTO COMMISSI
To Allied Cementing Co., LLC.	
You are hereby requested to rent cementing equipment	@@
and furnish cementer and helper(s) to assist owner or	CONSERVATION DIVISION
contractor to do work as is listed. The above work was	TOTAL WICHITA, KS_
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	SALES TAX (If Any)
TERMS AND CONDITIONS" listed on the reverse side.	E82 C 1 O
	TOTAL CHARGES 5835.60
PRINTED NAME Soft (Adc/hardt	DISCOUNT 583.56 IF PAID IN 30 DAYS
PRINTED NAME Soft (Adelhardt	
SIGNATURE Scatt (Idelhan)	ANY APPLICABLE TAX
July Carry van	WILL BE CHARGED

UPON INVOICING

ALLIED CEMENTING CO., LLC. 042740

REMIT TO P.O. BOX 31		
RUSSELL, KANSAS 67665	SERVICE POINT:	
- Lincoln Trust	Medicine lodge	
DATE 10-16-08 SEC. TWE S RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH S'30 pm, 12:30 pm 8:00 pm 9:00 pm	
LEASE WELL# LOCATION ZRI + G	COUNTY STATE	
OLD ORNEW (Circle one) 3/25. 14w.	eclana la. E to Battel ld. Barber 10,	
13/23, 14w,	.8 N(:nto	
CONTRACTOR Hardt	OWNER Works Office	,
TYPE OF JOB Dioduction	OHINER CHARLES OFFI	
HOLE SIZE 77/8 T.D. 4575140	CEMENT	
CASING SIZE LI 2 DEPTH 4994	AMOUNT ORDERED Sx Codes (4) 4 4/6 Sed	
TUBING SIZE DEPTH	2505xH +10% Gyp + 10%501+110#KolSed+	
DRILL PIPE DEPTH	180f)-160+14+16 Seal Cha10-10gds	, :
TOOL DEPTH PRES. MAX (GOO MINIMUM —		
PRES. MAX /COO MINIMUM — MEAS. LINE SHOE JOINT \$2	COMMON 39 A @ 15.45 602.55	•
CEMENT LEFT IN CSG.	POZMIX <u>26</u> @ 8.00 <u>208.00</u> GEL 2 @ 20.80 4/60	:
PERFS.	GEL <u>2</u> @ <i>20.80 <u>41.60</u></i> CHLORIDE @	
DISPLACEMENT 8/ BBB2%KC1	ASC@	
EQUIPMENT	250 H @ 16.75 4/87.50	
•	Gyp SEAL 24 @ 29.20 700.80	•
PUMPTRUCK CEMENTER MOUNCE,	- Salt 27 @ 12.00 324,00	
#360 HELPER SKIPK.	Ko/seal 1500 @ .89 /335.00	
BULK TRUCK	FL-160 188 @ 13.30 2500.40	
# 42/ DRIVER 55. F.	FIO SEAL 63# @ 2.50 157.50	
BULK TRUCK	_ Cla Rio 10 fb @ 31.25 _ 312.50	
# DRIVER	HANDLING 405 @ 2.40 972.00	KCC
	MILEAGE 26 x 405 x. 10 1053.00	
REMARKS:	TOTAL 12394.85	JAN 2 9 2009
proceedan lovakein phantulissy,		
missoskopyo, mixzsosx teil Stoo was	SERVICE	CONFIDENTIA
Ring things release plus. Disp w/20/2 Kel.	- SERVICE	
Seelif @506les. Slowick to 38pme	DEPTH OF JOB 4994	,
Delds. Byon plug 1000 over@ 8/ Colds.	PUMP TRUCK CHARGE 2185,000	
that did halo	EXTRA FOOTAGE@	
	MILEAGE 26 @ 7.00 182.00	•
	MANIFOLD@	
	Hera Rental @ 1/3.00 1/3.00	•
CHARGE TO 1 100/60 1 00 0	<u> </u>	
CHARGE TO: Woolsey Ofer.	2//24 40	
STREET	TOTAL <u>2480.60</u>	
CITYSTATEZIP		
JIAILZIF	'' PLUG & FLOAT EQUIPMENT	
	9/2	•
	1-AFUF/patSler @ 434.00 434.00	
	1-Later dawn ASSm@405.00 405.00	
To Allied Cementing Co., LLC.	13-tucholizers @68.00 884.00	
You are hereby requested to rent cementing equipment	32-3/atchers @ 68.00 2176,00	
and furnish cementer and helper(s) to assist owner or	@	
contractor to do work as is listed. The above work was		
done to satisfaction and supervision of owner agent or	TOTAL <u>3 8 99.0</u> 0	
contractor. I have read and understand the "GENERAL		
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	
	TOTAL CHARGES	
PRINTED NAME THARP	Reduced	
•		RECEIVED!
SIGNATURE MAN		ANSAS CORPORTION COMMISS
SIGNATURE A FILM	WILL BE CHARGED	1441 9 6 666
. 🔾	UPON INVOICING	JAN 3 0 2009
		AANGEMM MANGHAR
	we will be a second of the sec	CONSERVATION DIVISION WICHITA, KS
		441017111/A, 1767